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Q1.
Choose the correct option for followi*rg q,r.
comDulsory and carr"y egua! marks

1 Which is not the conrcnt of the RFp ?

OpiionA:
Option B: Contractual provisions
Option C: Tirne and line charl
Option D: Tbchnical irifonrration and data

2. As per revised PMI zuidelines WBS should be
OptionA: i ixed
C)ntion B' Flexible
Ontion C' Temporary
Option D: Unstructured

3. In which of the follor,.,itg situaticns a prctotypins *odel of .nfi**" ailillili]l
OptionA:

Proiects rviil, larse nroiect teenrsC)ntion R'
Option C. Risk is involveC iu project
Option D: When proiect ieam repeats any prciest

4 Inforrtation hidins does irot
OptionA: encourage the use ofslohal data
Option B: reduce the likelihood of side effects 

-

Ootion C:

Option D:

5 Rcfactoring refers to
CptionA: Code rebirild
Option B: Modification to internal desirn
Option C: Component reusabilitv
Option D: Encapsulation

6. InrrnitteStx1grftheca11edlchi1dmoduleisnotreadytt,@
nrodule. This dunrmy module is referred as

OptionA: Driver
StubOntion R'

Option C: Reference
Option D: Sample

7. Which is correcr aboutAOA
OptionA: aITOw reUlesent activitv and node r
Option B. anor.r reprcsenl event and node represent activity
Ootion C: arro\\ l(jprcstlll dependcncy and ncdc represcnt c\.ent

aro\\ r!-1)rc5.lt1 flo\\. anc node represent estifilaieOption D:

1 | Paee

Statement of u,ork and orooosal reorriremenfs

ernphasi ze communication through conlEo lled interfacel 

-
limit the slobai imuact of lncal deqi'n.{"";oi^J----



_
I he dell\ erable for the l-rst

S et of o 

"ti-,a-EGiip"o- to manage .n*r.

ffi=
verificstion. initiat

QZ Solve any pcur ouGrSix
uescrtbe in brief Call anri p.^r

5 marks eachA

B

. _ _-*_ *__ ..""".,, ourrwarezifo[Iiech]fc.
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associarion oe

-

Il ifl'erenti r to k^+*,^^F-C
D

---_.,....*., ur.!vssu atlJna ano Deta teslino
Wrlte note on Collahn',r*.6 -^^..:-^--, . 
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Predecessor Activities
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Q3

Solve any Two Questions out of Three 10 marks each

A What is Asilc mcthodolosy ? Explain SCfrRM.

B Explain Mc Cali's Quality factors

C Explain in detail 4 P's of proiect management

Q4
A Solve any Trno 5 marks each

1 What are advantages of including milestones in WBS

ii. Draw a ccmplete usc case for buying a ticket for an event using an Online
Bookine Srte.

iii. Compare PERI and CPM

B Solve anv One 10 marks each

i Write a note on the SCM process. explain how change and version controi
are carried out in SCM.

ll W'hat is a Business case? State the steps in developing the business case.
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